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Topic:- Child Development & Pedagogy (CDP)

1) The distribution of intelligence is not among all human beings./ gt 'qa'&ff & @?I, Q@ &1 faavor qﬁ H
1. Moderate / HEIH

2. Equal / GHATsT

3. Appropriate / W

4. Same /| Uh aﬂT

Correct Answer :-

e Equal / H&HTeT

2) The primary focus of a formative Assessment for learning should be: / 3ftrTH & ﬁ'l'q Uh RS fiFad &1 e Oy m a11%1;r:
1. checking the classroom presence of the child / aér aﬁ DET ﬁ B'q@lﬁ[ aﬁ \_YI'TE[ AT

2. checking memorizing skills / THXUT T DI P ST BT

3. help in improving writing skills / AG Bl B ﬁ%ﬂ@ T Aeg BT

4. understanding the gaps in learning / I H SiavTd &t SEESH

Correct Answer :-

« understanding the gaps in learning / S A iavTd &1 HHHAAT

3) Mohan is a 13-year-old 9t class student with a mental age of 16. What

type of child is he based on hisIQscores?/Iﬁg'_{13aﬁq:ﬁé’f$mmw%,mqﬂmm 16%|ﬁaﬁ§@wﬁ?%¥3ﬁm
WR {5 yHR &1 =1 32

1. Imbecile /?FI;@ 1 A

2. Genius / FTQHTaTeT

3. Above average / 3d ¥ FW
4. Superior / A3

Correct Answer :-

« Superior / aRs&

4) What is the Freudian stage of psychosexual development in which children are toilet trained known as? / TR e 3t wafsaa

SARYT P FT HeT olral ¢ ForaH I=1 &) T & e uifara far simar @2
1. Latency / 3TcAIFATaEAT (oIedT)

2. Phallic / ToI9T wereITaEaT (Hice)

3. Oral / FWEEAT (3Re)

4. Anal / T[ETEEAT (TeTel)

Correct Answer :-

+ Anal / T[ETET (TeTeA)

5) What is Progressive Education? / WRTfar=ier fRrei «r 82

1. It has standardized testing / SEH I UI&UT BIeT 5|

2. It is Learning by doing / ST - §T T (olfier §1$ 591) BYelr &1



3. It is data-driven learning / & o3 e grar gl
4. 1t has standards-based curriculum / sﬂ—ﬁf AT 9T 3menRa qredshH gld gl

Correct Answer :-

« Itis Learning by doing / SEH Tt gV Jife (afder a3 3\37[) glar &l
6) is called maturation. / &1 giuedr Dol SIIdl %I
1. Family intervention / giaie W&%‘T

2. A change due to cultural influences /W JHTET & HROT Th qRadeT

3. Natural biological development / WEF S A

4. Change due to environmental pressures / gTaRof gaTal & SRUT gRadd

Correct Answer :-

« Natural biological development / ‘;I'I—Utlfﬁﬁ? Ao faera

7) study is applied to study in which some of the individuals have been measured on at least two successive occasions /

YT B AN B & g sreqa faan wirar 3, forrd & g0 aafdaal &) $0 d 39 &1 aaR $/@awR) W J1dT STt 2|
1. Extended Longitudinal Method / fa%aTiRa sreed gfe

2. Longitudinal growth/ 3eJetd Jefer

3. Cross Longitudinal Method/ 31 3781l farerrer

4. Mixed longitudinal/ TATS 3rgeed

Correct Answer :-

+ Mixed longitudinal/ fAFAT 3regaes

8) Which of the following is not a use of an intelligence test? / ﬁmﬁﬁaﬁ#ﬁmﬁgﬁﬁrqﬂwmm#&m%
1. Selection of students for scholarships / Wﬂﬁ*ﬁ'@@l’:ﬁaﬂw

2. Evaluation of teacher’s performance / ﬁ%?ﬂﬁﬂw

3. Grading of a student / T&h &1 Y AfZaT

4, Predicting a student’s success / WW@[WWWW

Correct Answer :-

« Grading of a student / T& &TF FI ST

9) The main objective of ADIP scheme is to provide to persons with locomotor disability. / TSIHTEH ST FT HET 35327,
AFAE RegmTar I s@fFaal # TET T g
1. Disability certificate / f&eIETAT FHATOTIT

2. Employment / IISTTR
3. Education / fRr&r
4. Aids and Appliances / @g&& 3R T

Correct Answer :-

« Aids and Appliances / T 3R 3uaoT

10) The three major themes in Vygotsky’s Social Development Theory are: / a3alcq#! & WAToF faww Reuia & v wa v &

1. Cognitive Apprenticeship, Social Interaction and Reciprocal Determinism. / HATATCHS cﬁr&gan AHATTR TEHATEAT 3R IREIRS

2. Cognitive Apprenticeship, Legitimate Peripheral Participation, The Zone of Proximal Development. / HATATCHS qfﬂ@?—ﬂ, g giefr ey,
gy Qe &1 8y



3. Reciprocal Determinism, Reward and Punishment, Classical Conditioning. / IREIRE ﬁ'ﬁﬂTU'lﬁ'l'cT, WcargeT 3R &3, ey B-Ffl;\m?-f
(Fenf@erer warrfaa)

4, Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / FrETfoler TEHTardT, THIEY [ &1 &7, 3T
3% A 9wt

Correct Answer :-

« Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / LI C HE'S-TT&IT—IT, THITY A F &, 37
3 AT 9wt

11) Ability grouping is a kind of segregation of the to provide greater opportunities of interaction and stimulation. / e faaer sk
FASAT & e WY YelT I F AU &1edr qHg, FO UH TFR F qIFHT ¢

1. Disadvantaged / afad
2. Normal / GTHTT

3. Backward / 92=ddt
4. Gifted / FfcreTTarsy

Correct Answer :-

« Gifted / FfQeTarsT

12) Language development in children follows the Principle of / ¥a} & #T9T &1 QA& 3 ﬁ?{}lﬁ F AT @ &
1. Integration / THIHIOT

2. Uniform pattern / Teh&9 Yoot

3. Continuity / IGEGEG

4. Individual differences / SATFIINT [ReaAcT

Correct Answer :-

e Uniform pattern / Ueh&Y Yoot

13) Direct method is also known as : / 98T A ® s@ &0 & oft e Far &
1. Direct approach / JcaaT TfecahIor

2. Inductional approach / SRUTIcHS TfSeahtor

3. Natural method / W fafer

4. Indirect approach / 319cgaT Tfeeanior

Correct Answer :-

+ Natural method / Tefcieh fafer

14) In collaborative learning, it is better that the students go through . /H(’»ﬂl’ll 3rfeTH #, Ig g % % sm I & ATETH &
ST

1. Self-assessment / Td: 3TTeheteT

2. Formative assessment / {ATcHeh 3TTeholeT

3. Peer assessment / TTAY 3TeheleT

4. Summative assessment / QIMcHSR 3TTeholsT

Correct Answer :-

o Peer assessment / Ty 3ol

15) Rating scales are used to measure /______ &I A & faw & fraRor A AT o) F1 39T FAT ST |
1. Intelligence / ﬂ?{ﬁ'

2. Attitudes / Hﬁaﬁr



3. Achievement / 39clTe¥]
4. Skills / SieTel

Correct Answer :-

o Attitudes / Hfﬁaj?r

16) Which of the following disorders is caused by an extra twenty-first chromosome? / fArfaf@d # @ w9 a1 JAER = afafRea a—ﬁ’a’&
IO & FROT T §?

1. Phenylketonuria / m

2. Down syndrome / ST3e1 ﬁls’m

3. Turner’s syndrome / T & ﬁs’m

4. Sickle cell anemia / ST PITAPT IRFATT (FAehel Tl THITHAT)
Correct Answer :-

« Down syndrome / ST3eT ﬁr@ﬂ'

17) Which of the following will occur if the stimuli of the first task is greater in similarity in the second task?/ Ffaf@a & @ g 9fg gge
FE A 3T, qE FE A FAGA § Hfow

1. No transfer will occur / aﬁé off TUTHATAROT FAET g1

2. Extent of transfer will be minimum / TATTAROT T AEAR gdH @W|

3. Extent of transfer will be less / TATATAROT &7 [AEAR F Q?TTI

4. Extent of transfer will be greater / TATATHROT &1 faEar 31f8 gem|

Correct Answer :-

« Extent of transfer will be greater / TATATARYT T TAEAR 31T8F gH|

18) Which of the following statements best defines motivation? / m’@? ﬁ' a’ Eﬁﬂ'—m Caicy QTU'IT F =AY ale qﬁﬂ'rﬁ?r LG %?

1. Internal state of an individual that arouses, directs, and maintains behaviour./ frdt cafga $r 3maRs ufa ar gdgil Fr Fafod F:ar %,
ERa & 3R s=T @ €

2. State of one’s emotional strength to respond to difficult situation. / FHfod aRTUTT o1 O ¢ & AT v HaecAs afaa Fr Tyl
3. One’s ability to demonstrate discipline. / 3-17:!?]1?4?{ TeRTd et Fr eTHar
4. One’s ability to do a task quickly and neatly. / TREY FTT &I STedl 31X 35T dlF & FT T &THATI

Correct Answer :-

« Internal state of an individual that arouses, directs, and maintains behaviour./ fFET cafFa Fr 37aRe AT N cgagR F 3T FoT &,
AR et & 3 saT @ Bl

19) Which of the following is not characteristic of a relational learning style? / fFafaf@d # q Pl A1 vH FauTeAS FRA At Fr Rewar g
L1

1. Sequential thinking / 3{eJshfHeh &

2. Perception of information as part of a whole / QTEI;U‘f * %@ F & H el Fr groT
3. Intuitive learning / H&ST AleT b 37TeaTe

4. Improvisation / 3TRITI=AT AT dTcepTioieh JeeieT

Correct Answer :-

+ Sequential thinking / 3efshiaeh HTe

20) Which of the following teaches parents a range of techniques for controlling and managing their children's symptoms, especially with children

diagnosed with conduct disorder? / AFfAf@a & & Fla @ NfY, ATaT-Rar i 39a g1} F Jaon F @AERHT = 3R gafa we
& faw & ot @ s a2 {AY w7 F IrRor RER (FsFe Bwsisw) @ @fFq aa



1. Parent training programmes / ai? aﬁ"T EIWTEH

2. Functional Family therapy / FHrafds gRar R

3. Systematic family therapy / guTrelleTa HfAeT R
4. Play therapy / Tor AT

Correct Answer :-

« Parent training programmes / ai_c' aﬁ"’[ ‘;h'ﬂTRq

21) What among these are not personality traits?/ ST ¥ FIT sqFdca 8Tor AT §?
1. Thinking-feeling/ TaTR- TG

2. Judging-perceiving / 3TTeheIT-HHSTAT

3. Sensation-intuition./ TAGeIT- 3ic: WaT

4. height-color / Fe-TT

Correct Answer :-

« height-color / Fe-TT

22) What is a rule that always leads to a solution if used correctly called? / 38 TIH H FAT Fgl AT § ST FHLAT TFH FHATUT oTdT § Il
3HFT T &7 ¥ 3990 fFar S

1. Heuristic / Tad: QMY (TIRREH)

2. Algorithm / TeINRZH

3. Information processing / Il TETHIOT
4, Stereotype / m (FEIRAeET)
Correct Answer :-

« Algorithm / TeIlNRZH

23) What type of attention is displayed when a child focuses all his attention on the task at hand, ignoring other information? / STe aﬂ? T AT

NI S 3 FF W FRT T §, 3R 3w gaenst i s Fwar §, O B vwR F1 aue yaitia g 82
1. Selective attention / TdeAlcHD AT

2. Simultaneous attention / THbTToIeh T

3. Divided attention / AT 3aen=

4. General attention / HIH 3dHTel

Correct Answer :-

« Selective attention / IIeTlcHD T

24) There is an addition of information to the existing information in learning./ fer & Tﬁ\?@T IHN & AT
sfafea SRy 81

1. Sporadic / %E'g’c"
2. Spiral / g

3. Linear / 3f&®

4. Disjunctive / ety

Correct Answer :-

« Spiral/ @S

25) Who among the following did not propose a trait theory of personality? /

rafaf@a & & fras cafFaca &1 & fvar Rguia (e «al) searfaa @ FFar?



1. Hans Eysenk / W éﬂﬁ?

2. Raymond Cattell / g Hed

3. Albert Bandura / 3TeeC €U§Tr
4. Gordon Allport / ATSeT 3iferae
Correct Answer :-

« Albert Bandura / 3Toelc ET'U§TI'

26) An individual achieves the masculine or feminine social role during ./ = safaa & et vy ar Eor
HTATTS S{FAHT ITed HIeT 81

1. Childhood / ST (TTSTSES)

2. Adolescence / frenRraser

3. Late Childhood / 927 S99 (AT AT$esgs)
4. Infancy / g

Correct Answer :-

« Adolescence / frenRraTan

27) Meta components, performance components and knowledge acquisition components are categories of:/ Aer HcHh, ‘JIEQ?FI' gch S'ﬁT AT wifeq
e T # ¥ e Ao §

1. Tripartite Theory/ TIU&f=T @?{f—]’lﬁ

2. Triarchic Theory/ T3@RIofrr ﬁ?@l’lﬂ'

3. Allport’s Theory/ 3TeAE AT m

4. Eysenck’s Theory/ 3'11%@75 Eal ﬁ'df]'l?f

Correct Answer :-

e Triarchic Theory/ IEECAIIRS mﬂ'

28) Skinner advocated that learning was more likely to occur when/ RFaAT F gFrerg A fF d@ar A Faaar a9 30+ E‘Fh’ %‘ oSiq
1. Explaining public events or observable behavior/ ATASTieleh EEATHT AT Idelichald cTAER ! SATEAT FlaTT|

2. Observation of a behavior is followed by modelling/ Teh cIdgIX T 3deliehe ufaget Carr fRar ST g

3. Behavior becomes a reflex response to stimulus/ SIdgR 3aeT & v v yidare wfafear s« srar %’I

4. Behavior is reinforced with a reward or punishment/ SIgR &l Teh SoATH AT ol & AT YaTold fohaT ST gl

Correct Answer :-

« Behavior is reinforced with a reward or punishment/ STGgR T Teh SATH IT Foll & AT VdTold [HAT ST &

29) which one of the following methods is used to study the behavior of an individual in its totality? / ﬁ'ﬂ'ﬁl@ﬁ o A foy faftr &1 Iughr
foreft safeRT & aER &1 IS THUAT H 30U B & fore foar sivar 22

1. Observation Method / 3iaelieheT fafer
2. Experimental Method/ waemcae fafer
3. Survey Method/ @ideor fafer

4. Case study Method/ && ¥e3r fafer

Correct Answer :-

« Case study Method/ &g ¥ear fafer



Which of the following is a projective technique to assess the personality? / frefafaa & @ o9 @t u&hw de-e HfRicd BT TP
AP RUFNRT 2

1. Rorschach Ink blot / JIRTTd TG T Y&aT (AT SH&AIC)
2. Interview / HI&TTchIX
3. Questionnaire /9RATIRI

4. Observation / ¥&TOT

Correct Answer :-

« Rorschach Ink blot / IR TS} BT YT (I IHAIC)

Topic:- General English(L1GE)

1) Rewrite the following changing the active sentence to passive.

The sun has ripened the fruit.
1. The fruit is ripened by sun.

2. The fruit is ripened by the sun.
3. The fruit was ripened by the sun.

4. The sun ripens the fruit.

Correct Answer :-

e The fruit is ripened by the sun.

2) Read the passage and answer the question that follows:

Michael Jordan was born on February 17, 1963, in Brooklyn, New York. Soon after, his parents moved the family to Wilmington, North Carolina.
Michael excelled at sports from an early age. Although he was cut from the Laney High School varsity basketball team his sophomore year in high
school, he grew four inches over the summer and averaged 25 points per game as a junior. During his senior year, he became the only player in
high school basketball history to average a triple-double (at least 10 points, 10 rebounds and 10 assists per game). In 1982, he was named a
McDonald’s High School All-American and received a scholarship to play basketball at the University of North Carolina. Michael quickly became a
star. During his freshman year, he hit the game-winning shot against Georgetown University that resulted in a national championship. After his
junior year, Jordan decided to enter the NBA draft. The Chicago Bulls picked Jordan up and his impact on the NBA was legendary. During his first
season with the Bulls, he scored 40 points or more seven times. Jordan’s exploits on the basketball court continued to astound fans, coaches, and
fellow players. From making spectacularly unimaginable shots, to winning slam-dunk contents, the high-flying, tongue wagging Jordan soon
became the most popular athlete in the world. Intimidating and extremely competitive, he had a knack for hitting game-winning shots and playing
tenacious defense.

When and where was Michael Jordan born?
1. 17" February 1963, Brooklyn

2. 17t February 1968, Wilmington

3. 17" March 1936, North Carolina

4, 17t January 1963, Brooklyn

Correct Answer :-

. 17t February 1963, Brooklyn

3) Read the passage and answer the question that follows:

Michael Jordan was born on February 17, 1963, in Brooklyn, New York. Soon after, his parents moved the family to Wilmington, North Carolina.
Michael excelled at sports from an early age. Although he was cut from the Laney High School varsity basketball team his sophomore year in high
school, he grew four inches over the summer and averaged 25 points per game as a junior. During his senior year, he became the only player in
high school basketball history to average a triple-double (at least 10 points, 10 rebounds and 10 assists per game). In 1982, he was named a
McDonald’s High School All-American and received a scholarship to play basketball at the University of North Carolina. Michael quickly became a
star. During his freshman year, he hit the game-winning shot against Georgetown University that resulted in a national championship. After his
junior year, Jordan decided to enter the NBA draft. The Chicago Bulls picked Jordan up and his impact on the NBA was legendary. During his first
season with the Bulls, he scored 40 points or more seven times. Jordan’s exploits on the basketball court continued to astound fans, coaches, and
fellow players. From making spectacularly unimaginable shots, to winning slam-dunk contents, the high-flying, tongue wagging Jordan soon
became the most popular athlete in the world. Intimidating and extremely competitive, he had a knack for hitting game-winning shots and playing
tenacious defense.

How did Jordan continue to amaze his fans, team members and coach?

1. He kept growing taller and taller every year.



2. He made spectacular shots and won slam-dunks
3. He used to snatch the ball from his opponents.

4. He was too quick on his feet for his opponents to catch him.

Correct Answer :-

« He made spectacular shots and won slam-dunks

4) Read the passage and answer the question that follows:

Michael Jordan was born on February 17, 1963, in Brooklyn, New York. Soon after, his parents moved the family to Wilmington, North Carolina.
Michael excelled at sports from an early age. Although he was cut from the Laney High School varsity basketball team his sophomore year in high
school, he grew four inches over the summer and averaged 25 points per game as a junior. During his senior year, he became the only player in
high school basketball history to average a triple-double (at least 10 points, 10 rebounds and 10 assists per game). In 1982, he was named a
McDonald’s High School All-American and received a scholarship to play basketball at the University of North Carolina. Michael quickly became a
star. During his freshman year, he hit the game-winning shot against Georgetown University that resulted in a national championship. After his
junior year, Jordan decided to enter the NBA draft. The Chicago Bulls picked Jordan up and his impact on the NBA was legendary. During his first
season with the Bulls, he scored 40 points or more seven times. Jordan’s exploits on the basketball court continued to astound fans, coaches, and
fellow players. From making spectacularly unimaginable shots, to winning slam-dunk contents, the high-flying, tongue wagging Jordan soon
became the most popular athlete in the world. Intimidating and extremely competitive, he had a knack for hitting game-winning shots and playing
tenacious defense.

Why was Jordan named the McDonald’s High School All American?
1. He grew 4 inches in one summer season.

2. He moved to the University of Carolina.

3. He became an American citizen.

4. He was the only player to average a triple-double.

Correct Answer :-

« He was the only player to average a triple-double.

5) Read the passage and answer the question that follows:

Michael Jordan was born on February 17, 1963, in Brooklyn, New York. Soon after, his parents moved the family to Wilmington, North Carolina.
Michael excelled at sports from an early age. Although he was cut from the Laney High School varsity basketball team his sophomore year in high
school, he grew four inches over the summer and averaged 25 points per game as a junior. During his senior year, he became the only player in
high school basketball history to average a triple-double (at least 10 points, 10 rebounds and 10 assists per game). In 1982, he was named a
McDonald’s High School All-American and received a scholarship to play basketball at the University of North Carolina. Michael quickly became a
star. During his freshman year, he hit the game-winning shot against Georgetown University that resulted in a national championship. After his
junior year, Jordan decided to enter the NBA draft. The Chicago Bulls picked Jordan up and his impact on the NBA was legendary. During his first
season with the Bulls, he scored 40 points or more seven times. Jordan’s exploits on the basketball court continued to astound fans, coaches, and
fellow players. From making spectacularly unimaginable shots, to winning slam-dunk contents, the high-flying, tongue wagging Jordan soon
became the most popular athlete in the world. Intimidating and extremely competitive, he had a knack for hitting game-winning shots and playing
tenacious defense.

Give a synonym to tenacious.
1. Astonishing

2. Dumbfounded

3. Resolute

4. Flabbergasted

Correct Answer :-

« Resolute

6) Read the passage and answer the question that follows:

Although, the Rio Grande is not the longest river in America, it is one of the most important. Unlike other significant rivers, it is not used for
shipping because ocean going ships cannot navigate the waters. What makes the Rio Grande so important is its location. Since 1846, it has been
the official border of Texas and Mexico. Because the river twists so much, it occasionally changes course. The river starts in Colorado and extends
downward to the Gulf of Mexico. Downward is the best way of describing it too. Not only does the river extend south, but it also starts in the
mountains and gets lower and lower in elevation as it extends to the Gulf. Its name is Spanish for the “Big River,” but the Rio Grande is actually
known as Rio Bravo in Mexico. “Bravo” translates as “furious,” so the name makes sense. Because of its twists and turns, it certainly does seem to
be angrier than most rivers! The Rio Grande today is mostly used as a source of drinking water. Sadly, much of the water has been drained from
the river and parts of it are almost dry! This is because people use more water from the river than the river can get back from rain and other
sources. Experts are working to correct this, though, with hopes of restoring the river to its past strength. Today, the river is important as a source
of water for Texans and Mexicans. More important, it is a symbol of cooperation between two nations. The Rio Grande is therefore a symbol of
friendship and peace between two peoples.



Why is the Rio Grande important?

1. It has many twists and turns that change course.

2. Itis a very long river.

3. It is looked at as the official border of Texas and Mexico.

4. Tt is used by ships to navigate from place to place.

Correct Answer :-

o TItis looked at as the official border of Texas and Mexico.

7) Read the passage and answer the question that follows:

Although, the Rio Grande is not the longest river in America, it is one of the most important. Unlike other significant rivers, it is not used for
shipping because ocean going ships cannot navigate the waters. What makes the Rio Grande so important is its location. Since 1846, it has been
the official border of Texas and Mexico. Because the river twists so much, it occasionally changes course. The river starts in Colorado and extends
downward to the Gulf of Mexico. Its name is Spanish for the “Big River,” but the Rio Grande is actually known as Rio Bravo in Mexico. “Bravo”
translates as “furious,” so the name makes sense. Because of its twists and turns, it certainly does seem to be angrier than most rivers! The Rio
Grande today is mostly used as a source of drinking water. Sadly, much of the water has been drained from the river and parts of it are almost dry!
This is because people use more water from the river than the river can get back from rain and other sources. Experts are working to correct this,
though, with hopes of restoring the river to its past strength. Today, the river is important as a source of water for Texans and Mexicans. More
important, it is a symbol of cooperation between two nations. The Rio Grande is therefore a symbol of friendship and peace between two peoples.

How is the Rio Grande considered among the Texans and Mexicans?
1. The people are using more water than required.

2. They are continuously fighting for its water.

3. Both the different people want to make dams across the river.

4. It is a symbol of friendship and peace.

Correct Answer :-

It is a symbol of friendship and peace.

8) Read the passage and answer the question that follows:

Although, the Rio Grande is not the longest river in America, it is one of the most important. Unlike other significant rivers, it is not used for
shipping because ocean going ships cannot navigate the waters. What makes the Rio Grande so important is its location. Since 1846, it has been
the official border of Texas and Mexico. Because the river twists so much, it occasionally changes course. The river starts in Colorado and extends
downward to the Gulf of Mexico. Its name is Spanish for the “Big River,” but the Rio Grande is actually known as Rio Bravo in Mexico. “Bravo”
translates as “furious,” so the name makes sense. Because of its twists and turns, it certainly does seem to be angrier than most rivers! The Rio
Grande today is mostly used as a source of drinking water. Sadly, much of the water has been drained from the river and parts of it are almost dry!
This is because people use more water from the river than the river can get back from rain and other sources. Experts are working to correct this,
though, with hopes of restoring the river to its past strength. Today, the river is important as a source of water for Texans and Mexicans. More
important, it is a symbol of cooperation between two nations. The Rio Grande is therefore a symbol of friendship and peace between two peoples.

What is the river used for these days?
1. It changes its course frequently.

2. It is a good source of drinking water.
3. It is used for movement of large ships.

4. People move along the river on boats.

Correct Answer :-

e Itis a good source of drinking water.

9) Read the passage and answer the question that follows:

Although, the Rio Grande is not the longest river in America, it is one of the most important. Unlike other significant rivers, it is not used for
shipping because ocean going ships cannot navigate the waters. What makes the Rio Grande so important is its location. Since 1846, it has been
the official border of Texas and Mexico. Because the river twists so much, it occasionally changes course. The river starts in Colorado and extends
downward to the Gulf of Mexico. Its name is Spanish for the “Big River,” but the Rio Grande is actually known as Rio Bravo in Mexico. “Bravo”
translates as “furious,” so the name makes sense. Because of its twists and turns, it certainly does seem to be angrier than most rivers! The Rio
Grande today is mostly used as a source of drinking water. Sadly, much of the water has been drained from the river and parts of it are almost dry!
This is because people use more water from the river than the river can get back from rain and other sources. Experts are working to correct this,
though, with hopes of restoring the river to its past strength. Today, the river is important as a source of water for Texans and Mexicans. More
important, it is a symbol of cooperation between two nations. The Rio Grande is therefore a symbol of friendship and peace between two peoples.



Why is the river given the name of ‘Bravo’?

1. Bravo means furious in Spanish.

2. It looks angrier than other rivers because of its twists and turns.
3. Even though it has become almost dry it is still flowing.

4. It is given the name because it has many twists.

Correct Answer :-

« It looks angrier than other rivers because of its twists and turns.

10) Read the sentence carefully and choose the option that has an error in it:

Do not laugh on the poor.
1. the poor.

2. Do not

3. laugh

4. on

Correct Answer :-

11) Fill in the blank with the correct option in the given sentence:

An angel of the first rank is an —angel.
1. intro --
2. intra --
3. arch --

4. ex --

Correct Answer :-

e arch --

12) Fill in the blank with the correct option in the given sentence:
At my slight -- movement, the snake would strike me!

1. —-ing

2. —-ly

3. --est

4. —-er

Correct Answer :-
e --est

13) Fill in the blank with correct determiner in the given sentence:

Reciting a table of two is so easy that ____ child can do that.
1. few

2. any

3.no

4. all

Correct Answer :-

e any



14) Report the following statement.

“Did you come from India?" said Sara to the boy.
1. Sara said to the boy did he come from India.

2. Sara asked the boy if he comes from India.

3. Sara asked the boy if he had come from India.

4. Sara asked the boy if he have come from India.
Correct Answer :-

« Sara asked the boy if he had come from India.

15) Choose the appropriate tense to fill in the blank in the given sentence:

1 in my diary every day since August.
1. will be writing

2. have been writing

3. has been writing

4. had been writing

Correct Answer :-

« have been writing

16) Choose the right tag:

Harry got badly injured in an accident. Before that the friends used to play football very often, _ ?
1. hadn’t they

2. weren’t they

3. didn’t they

4. did they

Correct Answer :-
o didn’t they

17) Choose the right tag:

We are dining out today, ?
1. are we

2. aren't we

3. don't we

4. do we

Correct Answer :-

e aren't we

18) Choose the appropriate prepositions for the given sentence:

The manufacture computers is very essential our economy.
1.in ... for

2. of ... to



3.on...into

4. for ...in

Correct Answer :-
e of..to

19) Choose the appropriate antonym for the highlighted word in the given sentence.

She is such an aggressive player that she always tries hard to win.
1. ambitious

2. selfless

3. laidback

4. foolhardy

Correct Answer :-

« laidback

20) Choose the appropriate conjunctions for the given sentence.

Hedrove ___ fast___ hecan.
1. neither ... nor

2.as...as

3. both ... and

4. either ... or

Correct Answer :-

21) Choose the appropriate option that rewrites the given sentence in its passive voice.

We have bought a new car.

1. A new car is been bought by us.

2. A new car have been brought.

3. A new car has been bought by us.
4. New car has been bought by us.
Correct Answer :-

* A new car has been bought by us.

22) Choose the appropriate tense to fill in the blank in the given sentence:

He knew that she as her eyes were red.
1. had been crying

2. has been crying

3. is crying

4. was crying

Correct Answer :-

¢ had been crying

23) Choose the appropriate synonym for the highlighted word in the given sentence.



Survey reveals that learning a second language fuels children’s intelligence.
1. provokes

2. adds fuel

3. reflects

4. strengthens

Correct Answer :-

« strengthens

24) Choose appropriate articles for the given sentence:

___ Middle East has more oil in ground than in ___ United States.
1. The ... the ... the

2. The .. a ... the

3. No article required ... the ...the

4. No article required ... no article required ... the

Correct Answer :-
e The ... the... the

25) Choose appropriate article for the given sentence:

India is a big country which is proud of its diverse cultures.
1. The
2. No article
3. An

4. A

Correct Answer :-
« No article

26) Choose an appropriate modal for the given sentence:

My father not afford to buy books so he borrowed them from the public library.
1. would

2. could

3. should

4. must

Correct Answer :-

e could

27) Choose the most suitable pronoun for the given sentence:

I love carnations. flowers are from my hometown.
1. Those

2. They

3. This

4. These



Correct Answer :-
e Those

28) Choose the option that substitutes the given phrase appropriately.

A large building that usually houses aircrafts
1. Driveway

2. Hangar

3. Tarmac

4. Parking bay

Correct Answer :-

29) Choose the option that best explains the highlighted expression:

He is popular amongst all the villagers. He is the salt of the earth.
1. an emotional person

2. a good and honest person

3. an angry person

4. a humble person

Correct Answer :-
« agood and honest person

30) Which of the following options best combines the given sentences?

The child is very young. He can't lift weights.

1. The child is very young, so only he can't lift weights.
2. The child is so young that he can't able to lift weights.
3. The child is too young to lift weights.

4. Being a very young child, he can’t be able to lift weights.

Correct Answer :-

« The child is too young to lift weights.
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Topic:- Science (SCI)

1) The relative density of a substance is 13.6 and its volume is 20 cm3. What is its mass? /

el ugrel @1 AeT ueed 13.6 § 3R swET Iaae 20 B {1 sHET geAAET e ¥?
1.272g /| IH

2.2.72g | IH

3.27.2g / IH

4.0.06g / ITH

Correct Answer :-



The current—voltage graph for two conductors ‘P’ and ‘Q’" are shown below. Select the correct
statement from the following options. [/

gr gamers P AR Q' F v Regya dees @ e e av ) mefaa
foepodl & WEr Fya & =TT H

Current Q

Voltage
1. For the same value of voltage, the current through the conductor Q is more than the current through the conductor P. /
dleeSst & TA # & o, faegd s gareld Q@ o IR &, GaTelh P A IR dlell faegd & iU gidr ¢ |
2. The resistance of the conductor P is equal to the resistance of the conductor Q. /
Tl P Gy Fareh Q¥ TRy & FAT g
3. The resistance of the conductor P is greater than the resistance of the conductor Q. /
gaTeleh P GIRIY Faresh Q& ToRIY § 3 &
4. The resistance of the conductor P is less than the resistance of the conductor Q. /
TATaH P 1 YRy JaTasd Q & UfeRly I &1 g
Correct Answer :-
« The resistance of the conductor P is less than the resistance of the conductor Q. /

AT P BT UfRIY Garad Q & U1y § H 81

3) Aforce of 10N is acting on the body and the body displaces through 5m normal to the direction
of application of the force as shown in the given figure. Find the work done. /
10N &1 T del, U I W FRd § 3R I8 QU a0 [ & 3WER, a9 & oF] gl & gar
# 5 AT AT T § farenid giar 81 fhaer Frf gam Ad F
l F=10N
L J—
5=5m
1. -50J
2.25)
3.501)
4.0J

Correct Answer :-

-« 0J

MR B A RATGrd ST @1 ST =90 |
1. near a water source in the lab / I H Ulell & Teh Fld & 91

2. near the window / T@gehr & THIT

3.in dark / 3O A

4.in open shelves / gl (AT |

4) Liquids in spherical containers should be placed




Correct Answer :-
. indark / 3O H
5) What are the food requirements of dairy animals? /
3 gyt Fr W AaeIFAE FAr 2
1. Cattle need balanced rations containing all nutrients in proportionate amount. /
AR &1 3T A 7 Gl Gvh deal arel Tferd WM HT 3TaRTehdr gl B
2. Cattle require appropriate amount of food to sustain life needs. /
FHARGT T SaeT HT HERTRAIN P R A & AT HISTT 1 3UGFT AT 6T HGRTehT Bl &
3. Cattle are fed with plenty of green grass as well as dried fodder. /
FARKT T 3F ¥ °re & Ay & gEr arn o W S §
4. Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high level of proteins and other nutrients. /

FARIAT & &ietel A Hlel RN, S A9eh &7 F SR &1 U7 IY-3M6R fSeTa BIgeR HA gl ¢ Afehed 577 Izd TR & N
U9 3T 9ISF dcd 8 2

Correct Answer :-
« Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high level of proteins and other nutrients. /

FARIAT & iole A Alel °URT, S A9 &9 F WWSR g1 U7 TY-3T6R a3 BIge HA gl ¢ Afehed @7 3Izd TR & e
Td 3T 9N ded gid gl

6) The cracks inside a metal block can be detected with the help of:/

U1q sl & NARF WRT F Ferar ¥ Byt gar qoma s g ¢
1. Visible light / €T FhI?r

2. Infrasonic sound / 37d%eT eafer

3. Audible sound / 9T €afeY

4, Ultra sound / TX&eT &afey

Correct Answer :-

« Ultra sound / 9¥&eT eafay

7) What will happen if a small sheet of paper is tightly wound over at one end of a long iron rod and the same end is placed over a candle
flame? /

FIT g1 IR FITST T TF B TN, TF a9 Al Y 835 F 0F 8K W FAF aO¥ & et § 3R 370 535 $F g SR W &
AMaAad i d N JAEF @ AT B2

1. Only some portions of the paper will burn off. /
Hael FITST & FT REA STel ST
2. The paper will not burn off since iron is a good conductor. /
FEST Ae] STelall Fifeh A Th HoT fagaes ol
3. The paper will burn off since it is an insulator. /
FEIS STl San &ifd I8 fadars gl
4, The flame of the candle will put off. /
A HT & g1 S
Correct Answer :-

« The paper will not burn off since iron is a good conductor. /

FRETST 8T STeldN FAiTeh R Ueh <l [9gdes gl



At the top of the mountain the atmospheric pressure is: /

T3 & fiY @, ararevoiy gare fet sepEr g &

1. Less than the pressure at the sea level / {Hg del W card T

2. Equal to the pressure at the sea level / HHAG del X q&ld F TR

3. Equal to zero / [T F R

4. Greater than the pressure at the sea level / H?il:;'\' o 9T a9 ¥ 30w
Correct Answer :-

« Less than the pressure at the sea level / E?il;;‘( dd W caI9 O &H

9) Haemophilia and colour blindness are diseases. /
Ao sk guiivar T #

1. acquired / 39Troid

2. communicable / HhTH®

3. genetic disorders / 311@3@? ICEIRY

4. non communicable / 3THTHS

Correct Answer :-

« genetic disorders / 3-11?13‘@? ICEQCS

10) polar bear survives in the very cold weather conditions because of: /
gt e At ofiaer Atew fr Rufy & st MR war §, it
1. Thick layer of fat under skin / ca@T & #rd g&@T T AT WA F HROT

2. Abundant fish / €T AGIl

3. Oversize / TaITerahIT

4. Ice covered land / % & & FHAA

Correct Answer :-

« Thick layer of fat under skin / cad F oI FaT T AL W & HROT

11) Convert: 15m/s into km/h /
15m/s Y km/h & ARG AT |
1. 54km/h / 54 fheli#TeT/der

2. 27km/h / 27 freirdie/ger

3. 18km/h / 18 TereliaTe/ger

4. 36km/h / 36 fraltaeT/ger

Correct Answer :-

« 54km/h /54 freliee/eer

12) Which of the following is not advisable for controlling the noise pollution? /
frrafafa & ¥ 71 wafr yguor # frifid o & v g ad ¥
1. The TV and the music systems should be run at low volume. /

& 3R Fola d7 (ReeA) o &A 3mara H Faen aifgul
2. The least number of trees should be planted around the buildings./

qaal & IRT 3 FH T FH U @MV SieT ATRT|



3. Automobile horns should be minimized at the residential area./
AT &7 7 3RS glel &l el ¥ HF haAT ST AT
4. Industrial units should be set up away from the residential area./

AT Shisal &I AT &7 & gy T fhar Sie =@iigul

Correct Answer :-

o The least number of trees should be planted around the buildings./

el & IRT 3R FH T FH U ENT A AT

13) For a normal eye, the far point and near point are and respectively./
TH AT A7 & T, gy e [y sk e e Rg e sk el

1. infinite , 25 cm / 315d, 25 T

2. infinite , zero / 31, [T
3. 45cm 25 cm / 45 WA, 25 JHT
4,25cm, 10 cm / 25 9T, 10 9T

Correct Answer :-

« infinite , 25 cm / 31ad, 25 Q&Y

14) We feel more comfortable in light coloured cloths in summer than dark coloured cloths because: /

affiEt #F goF @ & Fust H g7 30T IR AEHH Fd § FfF T @ F F9S &

1. Light coloured cloths absorbs more heat radiaﬁon/?ﬁ? T[T & m?;, I FvH [T # 3EnRa & a %I
2. Light coloured cloths absorbs less heat radiation / o T & HUS, HH 357 AfHOT F 3@m™T = &l

3. Dark coloured cloths radiate more heat radiation /?l?'): T F FUs 3¥F 77 ﬁﬁT{'UT, R_fFERT s %I

4. Light coloured cloths absorbs more moisture / s kuUk:d m 3fe T+ B =g Ba B

Correct Answer :-

« Light coloured cloths absorbs less heat radiation / o< BT & U, HH 37 AT & 3@a®a &g &1

15) Alice gets 100 out of 100 in her Math test to get the first rank always. This is an example of
motivation / T F JUT FUT Iod FA F AT, 10ra odam & gAar 100 & ¥ 100 3w Ao § Tg
U FT TF 3ETEVT ¢

1. Extrinsic / dTed

2. power-based / ATFA-HTEMRT
3. fear-based / HI-3TTRA

4. Competitive / Ifcrasfr
Correct Answer :-

« Extrinsic / &

16) A wire when connected to 220V main supply has power dissipation ‘P;’. Now the wire is cut into two equal pieces and combined in

parallel and then it is connected to the same supply. The power dissipation in this case is ‘P,’. Find Py : P,./

TF dR F AT 220V AET HYfd F 3T a1 ¥ a9 3@H fagga 9T Py’ g | HT AR F QY S gHS A Frer A1 ¢
IR FAWR T F NF 3/ FAW 39fd & N7 1w T W Rufa F Rega srveww by @ @1 Py P, A W

1. 2:1
2.3:1

3.1:2



4.1:4

Correct Answer :-

17) To save maximum energy it is advisable to use: /

FFaA FAT T9 & T FEsdT 399N Fa1 3RT Ia™n A §:
1. CFL lamps in our house / §AR &Y & HITHTS o

2. Filament lamps in our house / AR X & fhemmeie o (Fl?:!; o)

3. Fluorescent lamps in our house / AR &8 & gfadied of

4. LED lamps in our house / AN W H E‘Tvlé's?f o

Correct Answer :-

« LED lamps in our house / AR X # ToSar g

18) A solution contains 15 mL of alcohol and 85 mL of water. Calculate the volume by volume percentage of solution. /
& feras #, 85 mL 9l 31X 15 mL seded gar §1 feasr & aAmn ufaewa & amn & aoem #:

1.22.4%

2.15%

3.17.6%

4. 85%

Correct Answer :-

e 15%

19) Identify the correct electronic configuration of calcium /
Sewws & ad) sawciias e Y ggarT #Y
1.2,8,8,2

2.2,85

3.2,8,8,1

4.2,8,7

Correct Answer :-

. 2882

20) The number of oxygen atoms present in 1 mole of Na,CO3. 10H,0 /
N2,CO3. 10H,0 & UF AAN & ferefiorer waAmpst f dear #lgg &
1. 13.02 X 108 oxygen atom.s/ 13.02 X 1023 &mm

2 6.022 x 10%% oxvgen atoms/ 6.022 X 1023 &mm

3 7.83 x 10%* oxygen atmns/ 7.83 X 1024 mm

4. 463 X 102 0xygen atoms/4_63 X 1022 efﬁ%ﬁmuwg

Correct Answer :-

. 783X 10%oxygen atoms g3y 1524 affeRfier TR

21) The process used to separate bacteria from water is /

gt @ AFARAT Y rerer F& A GfFar



1. Decantation / ToEaRoT

2. Crystallisation / TohECeIeIOT
3. Evaporation / arsqel

4, Filtration / faredeat

Correct Answer :-

« Filtration / T &deeT

22) The pressure acting on a given area is 125N/m2.If the force applied is 2500N then the area on which the force applied is : /

fFet T T &9 9 R g9 125N/m? §1 I 9T AT S 2500N § At & W 9X ao S9EAm I § 9% &
1.200m? / 2002

2.2m? / 2 #2

3.20m2 / 20 #2

4.20cm? / 20 @2

Correct Answer :-

.« 20m? / 20 #H?

23) About 5g of a yellow coloured non-metallic solid (X) is taken and heated. It produces an irritating smelling gas (Y). The gas (Y) is
collected in a Gas jar and is shaken well with a little water when colourless Sulphurous acid (Z) is formed. What is the solid (X) and the gas
w? 7/

I @1 & S TG (X) FT qer 5 A fAr Snar g AR et R smar @1 g% @ Ay arel o A (Y) eves wwar 81 A
(Y) # vw 3w IR A vea B arar @ s st aret sreeR e s § a9 G wewgww ofds (2) F1 AT @ar §)1 o
(X) va 3w (Y) 71 &2

1. X S &Y =S03

2.X = P4&Y =Py05

3.X = Sg&Y =50,

4. X

S4&Y = SO;

Correct Answer :-

24) Out of the following given materials, which one will you prefer to make the handle of an electric kettle? /
Rrafaf@a & a§ Al & @, 37 FEd vE FAfFed Fadt F1 Tad AT e FIN?
1. Tungsten / TICaT

2. Bakelite / Selise
3. Copper/"ﬁ'CIT
4, Aluminium / Tegfifam

Correct Answer :-

« Bakelite / SFelise

25) A weak acid among the following is: /
e & ¥ wF gda I
1. Acetic acid / TTAfeH 31T

2. Hydrochloric acid / gTS3IorallXeh 37Fcl
3. Nitric acid / ASfee 3FaT



4. Sulphuric acid / HeFgRe 3Fel

Correct Answer :-

« Acetic acid / TTOfCH 3FaT

26) Type of the soil is decided by the /

HET FT THR T ga/n a9 far o §

1. Amount of humus in it / 38 @I I AT

2. Average size of the soil particles / FaT & HUN & AT 3HR
3. Porosity of the soil. / Jal T IRTDTRI

4. Amount of microorganisms in it / 395 H\&ﬂGﬁﬁ B AT

Correct Answer :-

» Average size of the soil particles / HcT F FUT & AT 3FR

27) Element ‘P’ has atomic number 19. The incorrect statement among the following is: /
dca P’ A WA FE&AT 19 7| Frfaf@a & & waa wua ¥

1. The valency of the element is 1 / decd T AT 1 %I

2. Element ‘P is a non-metal. / dcd ‘P’ Ueh 3HTJ gl

3. Element ‘P’ belongs to group I / Tcd 'P' @g 1 F a3 B

4. Element ‘P’ belongs to 4™ period / dca ‘P’ = 3mad & 3ideid 31TaT B

Correct Answer :-

« Element ‘P’ is a non-metal. / ded ‘P’ Teh 37T gl

28) What is the percentage of Carbon and Lead in Lead pencil, which we use for writing, drawing etc.? /

Az I O 897 G, 3E7 sy & AT 3uder aa & 3w wrer v efter Y wideraar frast &2
1. 50% Carbon & 50% Lead. / 50% el Td 50% efem|

2.100% Carbon & 0% Lead. / 100% IasT Td 0% M|

3. 0% Carbon & 100% Lead / 0% Tl T 100% e

4. 75% Carbon & 25% Lead. /| 75% @Telel Td 25% <frem|

Correct Answer :-

« 100% Carbon & 0% Lead. / 100% &hlssT Td 0% 2frem|

29) Which one of the following factors affects the quality of honey produced? /

farafaf@a # & fFw FRE @ eeg A qorEar yariad g {2

1. Number of worker bees which collect the nectar / 9 =T ARG SHCAT el aTel HalgY ?FT?{FI%@TIT Fr gEar
2. None of the above / 3TRIFd H ¥ FS AT

3. Queen bee and Drones / =il Hw IR W H'?-_FIH"'@T

4. Flowers available to the bees for nectar / HW & TG 3?:!,' 39eTeY T80 W

Correct Answer :-

« Flowers available to the bees for nectar / HW F ARG ?T:I; ERES) tjcq‘ ELS

30) Which physical quantity has the unit N/kg? /

ra sifas afr fr g N/kg 8?2



1. Velocity / a1

2. Acceleration / caor

3. Speed / Tt

4. Force / &

Correct Answer :-

» Acceleration / c@RoT

31) Two of the components of ecosystem mentioned below are abiotic. Identify them.
Inorganic nutrients, herbivores, decomposers, climatic factors, forests /
Hr sfeaf@a aRfeafadt a7 & o gew aohd &1 3= ggafaw
T NYF dcd, AHRRT , HIHCFHFRY, Targd! FF, a

1. Inorganic nutrients and forests / 37o1d 99eh ded 3R aef

2. Decomposers and climatic factors / 3TTECHRT 3R STerardr dR%

3. Decomposers and inorganic nutrients / 3UYCHRT 3R 3foid TYh I

4. Climatic factors and inorganic nutrients / Sarad BRS 3R 3fod WD dcd

Correct Answer :-

« Climatic factors and inorganic nutrients / ST R AR 3 Gy I

32) One among the substances given below can easily exist in all the 3 states of matter by varying its temperature. Identify that substance. /

Hr e o gt & F oF gt F auAEe # IR S-ad FAr Fw, @ 9 et § woar & QegAe % @69 g1 39
Terd it ggEE F

1. Table salt. / HHTT AHbR
2. Diamond. / §RT

3. Helium gas. / §iforms 4
4. Water. / STeT

Correct Answer :-

« Water. / STef

33) _is used for making the pencil lead. /

ofege s o & AT &1 392 fRam S #
1. Graphite / J®ISE

2. Diamond / &RT

3. Silica / T&ferer

4. Calcium / SfeR—H

Correct Answer :-

+ Graphite / JRIET

34) To move an uncharged body from its state of rest , we have to apply : /

el semaflia avg # 3u% e A fy & fawem & AT, @ aemer gem:
1. A balanced external force / T HJfold STET ool

2. An unbalanced electrostatic force / U &Iﬂ?jﬁ*l’d R aﬂ'g,’d qd

3. An unbalanced external force / Tdh &Iﬂfjﬁl’d CIFER]
4. A balanced frictional force / Tsh dqfeid &¥0T def



Correct Answer :-

« An unbalanced external force / T& 3Rqferd aTal

35) During the extraction of Iron from Haematite, which substance acts as Flux in the Blast furnace, which removes the acidic Silica contaminating the
Ore particles? /

tAETSE ¥ Wlf & fsweor & R, Fl a1 ward sane wofw # I3EE FUl A g A a IFed RAfeE # gen 9 weaa F W A
FIT 2

1.P,05
2.C
3. CaCl,

4. CaO

Correct Answer :-

« CaO

36) National Science Day is celebrated on in India. / ARd & T faaw Raw F HAAIT SATAT

gl

1. February 28 /28 IR
2.May1/178

3.June 5/ 59
4,March7 /7 o

Correct Answer :-

. February 28 /28 TRa3}

37) Evaluation is a .| AAHA TH gl

1. process unrelated to instructional objectives / 31?13%11?4@ 3?@(%?3!7 & foT gefad gfsear
2. continuous process / Hdd gfshar

3. Non-quantitative process / 3R-HATATcHS FTshaT

4. Non-qualitative process / ﬁ?—w ufdean

Correct Answer :-

. continuous process / Hdd gfsrar

38) The educational programs of NCERT are telecasted on: / TAHISIHIE & darorw FEIFAT B w gaiRd
R Smar B

1. Gyan Darshan channel / JTeT &1 dsTel

2. Doordarshan National channel / Z‘,:{E"Qi?-r ATl TeTel
3. Doordarshan Bharti / {{EQFT AR

4, eGyankosh /‘s‘—anﬁq

Correct Answer :-

- Gyan Darshan channel / FTH g2l deTol

39) Which group of organisms are not constituents of a food chain ?/

et &1 FieT & g W H@aT F uHF Al 87



1. Frog, snake, grass, eagle, grass hopper / ?ﬁEEF, QZI'T'CT, a1y, e, ﬁ_sng
2. Lion, rabbit, grass, wolf / 2, @aNer, a1&, Kf3ar

3. Snake, grass, wolf, tiger / FIT':T, a4, Afsar, st

4, Man, plankton, fish, grass hopper / Ale1d, Telddh, HGaT, fegar

Correct Answer :-

- Snake, grass, wolf, tiger / a9, grg, Afsar, s

40) Which of the following statements is not true for a constructivist teacher? / @Ffaf@a & ¥ #la @1 FY=, ™F
TEE) farw & fav I ad &2

1. His/her students work mainly in groups / 3eTeh &TF qAET ¥ o H?:I:EIT H & A B
2. His/her role is rooted in negotiation. / 3sTehT 34;&-!7:!'?[ Arerarg # Afga gl

3. He/she assesses the students through testing by checking for correct responses. / a8 Tel ITifhaT3il & o ST Fh
81T & ATETH ¥ OHET & 3eholed B 2l

4, He/she values the interest of students. / dg & ¥ & %?T & Hgcd e %I

Correct Answer :-

. He/she assesses the students through testing by checking for correct responses. / a8 Hel AldfhaT3ll & fow ST FH
81T & ATETH ¥ OHEl S 3eholel B 2l

41) «Assessment of learning” does not include: / "R F1 dFaa" AFT #H afAa a8 &
1. Evidence based assessment/ TT&T TR 3TTehelel

2. Criteria based assessment/ FIAGS TR 3ol

3. Assessment of outcomes / GRUTTAT T 3Teholel

4. Mapping students’ progress/ HTITI0T ST FI arfa

Correct Answer :-

. Mapping students’ progress/ HIATIFOT STAT HI Farfc

42) Which of the following statements is false about the collaborative learning approach? / fFafaf@a # @

DI H $YF HEIRTHAS R RS0 & IR § T 82

1. Social skills of learner are developed. / TRt &1 @GS Hierer fawfaa grar gl

2. Emotional skills of learner are developed. / et &1 HATIATCHS Eﬁ?]?vl’, Tf@a gar %’I

3. Every student participates pro-actively in the task. / Icdeh S, HT q‘\ﬁ' afshaar & T o gl
4. Dominance of the teacher is reduced. / fR1e1p BT UHTE HH B S %I

Correct Answer :-

. Every student participates pro-actively in the task. / Scdieh ST, ST & qt:ﬁ afshaar & HAT oI gl

43) One of the following statements is true for the process of Roasting carried out during the extraction of metals from their ores.
Identify the true statement. /

frfaf@a # ¥ & Fua ws § aiget F Peador & e frv aw sl f af F R @ §) 3@ g Fu F ggae)
1. Roasting is used for Carbonate ores. / $TleT T 3TN Hiafeic 3TH & fow Far Srar &1

2. Roasting is not used for Sulphide ores. / $7oieT T YT THISS NITH & foT g1 Har SIrar g

3. The ore is heated in the presence of air. / 37TTH P gaT H 3T 7 797 Far rar g



4. The ore is heated in the absence of air. / 37IEH I §aT T Hﬂ'@lﬁ H aF fFar Srar gl

Correct Answer :-

» The ore is heated in the presence of air. / 3TTEH Fr gdl $r 3ufeufa & 1 fFar smar ?’I

44) If the speed of sound is 340 m/s and the echo is returned in 3.5s, then the distance of the reflecting rock from the sound source is:

/
afe Ta @i $1 i 340 Hew/AFs § 3R 3.5 IFs # yfaeal™ arow oneht B, @ wafy Hia &) wfaeafa s aa g S gh &

1.595m / 595 #Hrex
2.1190m / 1190 #ex
3.170m / 1708
4. 955m / 955 #HreX

Correct Answer :-

« 595m / 595 HIeX

45) The unit “hertz” is the SI unit of the physical quantity: /
rgeu fre B | frw Wifde amn &Y ae (Taens) 39S B

1. Sound / &afeT

2. Frequency / 3naﬁf

3. Period / 31aTe&r

4. Amplitude / TITH

Correct Answer :-

« Frequency / qu_ﬁ

46) A train decreases its speed from 144 km/h to 72 km/h in 4s. The acceleration of the train is: /
TH 3 U1 916 4 AP s W 144 fHHii/dger A 72 fFii/der 9 S0 ! B, 7 BT @R 8:-

1. -5 m/s2

2.5m/s?

3. 10m/s?

4, -10m/s?

Correct Answer :-

« -5m/s?

47) A ray of light is incident on the glass slab at an angle of incidence 30°, the angle of emergence will be:/
ST B TH 6301 2 3 T ug) W 30° & MU HI01 W Taferd gielt B, WpT=r Sgw fig &1 Fior gm:

1. 60°

2.45°

3.30°

4. 15°

Correct Answer :-

. 30°

48) The interval between the melting point of ice and the boiling point of water in Celsius scale is divided into: /

ACTIT Thel & U F FaUAF AR T F TAAS F T AT wA Fenfaa gar &



1. 180 equal parts / 180 SRTsR ezt
2. 273 equal parts / 273 STeR fgear
3. 100 equal parts / 100 SRTeR fgeat
4. 120 equal parts / 120 sSRTsY frear

Correct Answer :-

« 100 equal parts / 100 SRTsR REaT

49) Use of agriculture farming system,with minimum or no use of chemicals,use of maximum input of manure,farmwastes and
bioagents is known as /

A T {31 T & YRT B Sy Yo &1 IuahT, Wie & Afread 3w, $R Ry R F9 $RS &1 IUGHT Hgardr g
1. Genetic manipulation. /W BT

2. Organic farming. / 3a Eljﬁ

3. Biofertilizer farming. / Sa3RD W

4. Biochemical farming. /Wfﬁﬁ

Correct Answer :-

« Organic farming. / g agﬁr

50) Combustible materials can be disposed off through / Sg=1eiieT Uerel fFas ATETHw & A9e™ o1 TFhd &
1. Composting / FHEGTECIT

2. Recycling / Ge1R<sh0T

3. Dumping | afaggo

4, Incineration / HHIHT

Correct Answer :-

« Incineration / HH BT

51) The anhydride of H3PO4 is: /
H3PO,; FTTEIESISS &:

1. PCl3

2. PCls

3. PH;,

4. P,O5

Correct Answer :-

. P205

52) Among the following ecosystems, man made ecosystem is /
Frafifae uifRufie o 7 |, are P oo @ 8

1. Garden / Fifi=r

2. Ponds / dTdld

3. Forests / STdl
4. Lakes / 39

Correct Answer :-

« Garden / EIE]



Vibro-tactile aids are used for students. / fA-3REA ACE FTIIWNT BT & e fovar sman 81
1. mentally ill / AIRAS FT F AR

2. dumb / T@

3. deaf / 98X

4.blind / 37€r

Correct Answer :-

. deaf / §8Y

54) The statement “the electrical resistance of a metal increases with temperature” is a: / ®Y: “UTJ BT ﬁa‘gﬂ ufaRie,
AITHH & |1 Tgd1 17 TH g

1. Concept / 3TN0

2. Theory / @Eﬁl’lﬁ'

3. Principle / IGRE

4. Hypothesis / IReedelT

Correct Answer :-

. Principle / e

55) Herbarium is a dry preservation of . | gaaH BT Uh [P Y& B
1. fishes / AGTOAT

2. bird feathers / J&fr & d@¥

3. herbs / ST8Y a@

4. plants /t?f‘iﬁ

Correct Answer :-

« plants / t?r%ﬁ

56) Which one of the following is not an advantage of the Heuristic method of teaching? / fFafif@a & @ 1= fRreror &

s ift s1 e ey g 32

1. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / Teh oo UTshaT glad & oTd, T§
T AT AT 3afe A AR qreusha B QU e H HgRIAT FX Fehell ¢

2. It helps in developing creativity in the learners /Jg Rienfial F wWarcasar [fefd =a & Acg T &
3. The students develop the power of observation. / BTAT # 37dellehe] I eferd Taehiad gl gl
4. Self-activity is used for gaining knowledge. / 3T UTed el & folT TF-AfAfAf Fr 3uAeT har J1ar B

Correct Answer :-

. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / T ool 9fhaT gl & oATd, T§
T AR AT 3af F AuiRd areushd # 9 e HA FEIar X Fhdl gl

57) Which of the following types of question should be used by a science teacher to assess the ability of a student to
summarize and integrate the ideas? / FURIfEd # ¥ {59 UPR & Uy ST TGN, Te fagH e grRT o) &1 98y iR
TPIpd B 8g UP BTF DI &HdT BT ipad B3 & g faran s anfge?

1. Selection type objective question / TJeT aTel d{-gl'l?luo 9T
2. Supply type objective question / 3-1TC|¢'\1=<-’T arel HQ-T:I)'%TG 90T

3. Short answer type question / o 3T CICEICEC ]




4. Long answer type question / &Y 3W ate g
Correct Answer :-

. Long answer type question / & 3T Tl e

58) Which of the following is a biotic factor?/
fraff@a # @ sla @ s sre
1. Microbes /q’mrrg

2. water / STel

3. Soil / fAEer

4. Air / a’rgr

Correct Answer :-

o Microbes /319 ol

59) perseverance is an attribute that: / ¥&dT T faQiwar §

1. Allows repeated opportunities for success / THeldl & folT FR-IR 37TE T g
2. Gives success in single attempt / Teh &1 TITH H TAholdl ool gl

3. Leads to continuous success / fa¥ Therdr &1 30 o T &1

4. Makes one narrow minded towards work / &I & 9fa ThroT @ Afda a=dr g1

Correct Answer :-

. Allows repeated opportunities for success / HHIAT & folT TR-ER 3GTX v gl

60) Which of the following is NOT true of performance-based assessments? / AFITaf@d & & FiT ygia-3meaRa
HHed HT TeT AL &2

1. It measures students ability to apply the knowledge learnt / Jg STHI FEIRY W 0 AT HF SIEI Fel I &THAT I
AT Bl

2.1t is simple and non-authentic / Ig§ Tl 3R IR-YATO® gl
3. It is open-ended and time-bound / Jg E:I’T*IT—&FI' (3N9e1-Us3) IR FAI-9¢Y Bl
4. It is process/product oriented/ Tg IThAT / 3cUTq 379 gl

Correct Answer :-

. It is simple and non-authentic / Ig & AR IR-yafoIF g



